N7 mpn nin'™Y "7520 KNN onnx - 12 ni'vo

NN
https://medium.com/datadriveninvestor/knn-algorithm-and-implementation-from-scratch-b9f9
b739c28f

https://www.youtube.com/watch?v=aMtckmWAzDg&t=393s

https://github.com/muzzart/knn-cifar10/blob/master/KNN%20-%20CIFAR10.ipynb

NTMI7 NIdN 7¢ 271Y9N NPV DX 720071 'An7 NNVNa TTIA NVS01D wnnnn TI7 112N 9 ni7'ysa
D' 7Y DY NIAY7 T 0RINVO0ID 190N WIN'Y NIYYYT NTAT7 JWNNA .TNN [N WIN'Y NIV
DN NI winm'? o waTa? awn Artificial neural networks - ANN n'nipx'm
NITMI7 NN DNMY' AN DNMINNIRATR 190N DMYR .DITAI NRIDA NIN'DY7 TN Y720 DI'R NIMDKR'M
AN 7V DINA NMIDAN DTN DINNA NI'YA NIN97 0'N'¥N 00N O'RINA ,N7RN DMNNIATRNN 77N
.D"NPKXM DN NINYWN 7Y DmnniaRn

xin Nt onnor K-NN qixa ik K-Nearest Neighbors algorithm nwa nniax oam ir ni'yoa
NN N1 7y AN 2 ooian KNN - %1 ni'yon naona .nimi? ninon NiN'S? NINNonN TNX
Y U7IUN2 NN DR AWNYT T 00IAN'D WIN'Y L 17W NI VIYON DY IX ANTN NITI 2 ' TI7IR
DT

3-7 oIN'R "M A10%7 13 (4-5-3) N1ana D'NIPK7A DN DY NYANYN AT T2 11 ni7woe qioa
D190N A1107 [I'0117 NIANP NI ' DIN'N DY 7¢ AI'0N NIRXIN DPNNN 77N01Y 11TNY .NINdYn
7y KNN nnmia%xn ni7'y' nX |n211tN 1T NI7'WO §102 .0'0IN'R 7W NINDWN 1107 TWRN DV'RIX
-2 wim'w 19 2y KNN -2 wim'y JIn ain'on NX Y¥a7 INI* (121 X7 DXN [N 0'0N'RN NINDYN 2II'0
ANN

:N2N NIT7aN wn NX AN KNN onin%x 7w n2ven jnpy nx an? *m»

import matplotlib.pyplot as plt

import numpy as np

data=np.array([ [6,7],
[2,3],
[3.7],
[4,4],
[5.8]
[6.3],
[7.9]
[8.3],
[8.2],
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[10.2] 1)

categories = np.array([0,1,1,1,1,2,2,2,2,2])

colormap = np.array(['r', 'd', 'b")

plt.scatter(datal:,0], data[:,1], s=100, c=colormap|[categories])

plt.show()

:N2N V790 X AN

NN1NQ .DITX YaX¥2 NNX DT NIRRT NI DR DI 0o 3 77200 yn D ox n7ay
NTIZIN DR N7RWUN N7RWI DIRND DITIRIN 7 2 INKR WRIEN7IN0N DITRIN D 2 Ine'D wp wy
PN NXIARY IX DI7INDN NITEN DXAP? D' ANITRD

D'DYN ' PITAY ) T 72V DNTRD DTN DMWY Axap TR w7 o' nk KNN onniax o 7y
ANIY WY D0W WY [N AT NRY '97 (DN 07IND) A10 721 DT NI W' 0RO NNdI N
.NXIAP NNIRY NDMY NPTAIN NTIRIN DT IRY ITRD ININA D101 2101 NITIR

INQN RN T2V NMAI0N NIX [N 7TRD 7712 NN n7RWUN NYRY)
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7N YaX2 NNX DT 7Y NN NOWA ININK JINAY IRYN NY 21202 ATRD DK KA D7TAD TWUKD
JDINX PN AT NIZIND NITIZ) 2 W'y N0WA 117217 DITR 71202 WTRD IR TN TWUND

AWND .O7TIA NRY DT NNIRT DN PN D'0NI9N 19010 N AX'NN 1901 KNl K X171 nuwn 7712
N NITRIN WY M 0T R K=3 2wxd npTn nT77 nang Do nTian ' opTa nx K=1

IN N7INDN NXIQP'7 NOY'Y D7TIA IRY DTN DOXN NITNY [N DT [91IX] NPTAN NTI%7 niang
et eiry]

NO"Y NPTAIN NTIZIN K=1 AWKRd D .AnimRN DTN A1'02 Ny 07270 12D 1R I'KAY nnarmin
.N7IN0N NXP7 N NpTAIN NTRAN K=3 QWK X .apint nxngt

7y y'owun K 0'anpn 1900 'Y D .07 'WIZN DR DA N0'YN W NI0DWON X7 AN N2 1T nnamn
Al'on nyayp

ANN2 NI 2 "T7PIX 7NN

T2V NINT D271 .ANN2 NI |2 7NN 2wn? onAaex? o'pipr nxk KNN onninsn nx wnn' mm
STAM-IT AWM 19 72V NI 2 12 70NN NR'N

9 o

a=x2-x1=8-6=2

b=y2-y1=7-5=2

INAN AXRNYAD T 7Y AWINN TI'K2 NN 2 I'2 d 7nnn

d= '\/(x2 —xl)2 +(y2 —yl)2

NN TN NNAIT T 20NN DTN [NpY DX 0'AM

import numpy as np

data = np.array([ [6.0,7.0],
[2.0, 3.0],
[3.0,7.0],
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[4.0,4.0],
[5.0,8.0],
[6.0,5.0],
[7.0,9.0],
[8.0,5.0],
[8.0,2.0],
[10.0 , 2.0]])

def euclidean_distance(p1, p2):
dx = float(p1[0]-p2[0])
dy = float(p1[1]-p2[1])
d = np.power(dx,2) + np.power(dy,2)
return np.sqrt(d)

print("\nAll Euclidean Distance from point: ",data[0], "\n")
for point in data:
distance = euclidean_distance(data[0], point)

print(distance)
:N2N V790 XK AN

All Euclidean Distance from point: [6. 7.]

2.
5.

1.

606707749979
4271247461903

851648087134504

.4931242374328485

W R B3 B

on

10791 NNIYRIN NIRXIND WI7YW NN |N1]
.09N XIN NNXY? NTH "2 ?hNnin D 0 NxIn [IURIN VN
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XNV i e 3 0wo KN (3,7) Nt (6,7) nTia 2 7nann D 3 XN 'wwin vn

DY NAINN NDYN A 7 *T7PIN Pnan

[707 .0'Tn 2-n AN IR PR aw'n onknny 1 euclidean_distance n'721V9n NX wTNN QIND)
AYINN 70NN UKD ,07TAM 3 N7V DAY NN 19 72V NIz 9-n 0'7nn Nawnnn T NNaIT

import matplotlib.pyplot as plt

from mpl_toolkits.mplot3d import Axes3D

import numpy as np

data =np.array([ [5.0, 5.0, 5.0],
[0.0,0.0,0.0],
[3.0,7.0,2.0],
[4.0,4.0,8.0],
[5.0,8.0,9.0],
[6.0,5.0,7.0],
[7.0,9.0,4.0],
[8.0,5.0,1.0],
[8.0,2.0,3.0],
[10.0, 2.0, 5.0]

def euclidean_distance(p1, p2):
d=0.0
for i in range(len(p1)):
a = float(p1[i])
b = float(p2[i])
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d += np.power((a-b),2)
d = np.sqrt(d)

return d

print("\nAll Euclidean Distance from point: ",data[0], "\n")
for point in data:
distance = euclidean_distance(data[0], point)

print(distance)

categories = np.array([0,1,1,1,1,2,2,2,2,2])

colormap = np.array(['r', 'd', 'b")

fig = plt.figure()

ax = Axes3D(fig)

ax.scatter(datal[:,0], data[:,1],data[:,2], s=150, c=colormap[categories])

plt.show()

:N2N V790 DR NN

O -8
©
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8.66
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10 0

1 8.66 -> (5,5,5) nTizan 2% (0,0,0) N1 2 7nnn DX (122 NAY'N N71VONY NIRYY N1

d= \/(xz —x1)? (2 =yl + (22 —z1)

d=\/(5—0)2+(5—O)2+(5—0)2=8.66
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,train owa "uNn19 NimpEan vn 7apn n7wesn .KNN owa n'1ye 2imd7 an' Tip n2Md2 Xan 27win
valpw K owa qon hun1ol test owa AN niangn NITEIN DR WON7 DM AR NY7RY DTN DR
2NN N71V9N NNIR NITIRIN 190N NX

NINAN NIRINN NIX YX¥IN IT A71Y9

euclidean_distance n71von nx jath oy 7021 train 7awna 0vn 73 v nk17a 1avn
127y NXI ZNINN DX 77100 M9 1vnY 0101 euclidean_distance n71von Arnimn wn
NPTV DTN
.D'7NNN '9 7 wnn DX N1 NITIRAN 7D DT Do INKY
TN WnY 1NaY D test N7 PRnan TTIM KN 7722 17N [IUXRIN 12'RN DX 7NN
09X N

X277 o'yin X DNIRY DN2RD K DR N y7na nvmnn axr7170 9y 1iay) 91017 e

TIpn winm [n7n

import matplotlib.pyplot as plt

import numpy as np

data=np.array([ [6.0,7.0],
[2.0,3.0],
[3.0,7.0],
[4.0,4.0],
[5.0,8.0],
[6.0,5.0],
[7.0,9.0],
[8.0,5.0],
[8.0,2.0],
[10.0,2.0] ])

def euclidean_distance(p1, p2):
d=0.0
for i in range(len(p1)):
a = float(p1[i])
b = float(p2][i])
d += np.power((a-b),2)
d = np.sqrt(d)

return d
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def KNN(train, test, K):

distances =]

NN =[]

for p in train:
dist = euclidean_distance(test, p)
distances.append((p, dist))

distances.sort(key=lambda dist: dist[1])

distances = np.delete(distances,[0], axis=0)

for i in range(K):
NN.append(distancesii][0])

return NN

neighbors = KNN(data, data[0], 3)

for neighbor in neighbors:

print(neighbor)
:K=3 121y xan v790 X N
:K=1 a1y xan v'79 nxi
:NAN D'YANN 71 NIRXINN NX |N2)
9_
B -
7 ®
6 -
5 -
4 -
3{ @
2 [ 8]
2 3 4 5 6 7 8 9 10
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.predict n21yon nx am>7 N0 nTRI7 N1dn2 KNN onmiiax niwe? Tip N2 [NNRN 2A7un

won? 0'¥YN X N*7RY test nwa 10N19d> NTTIA DT Ltrain Dwa 20n19d NI N 72pn n71yon
train 7yna NI 9D Novw nxE ITRY |*xnn bl owa niran vn N ningn DTN nx
n721yon .test nTIRaN N>"W AXIAR IT'R? YaRr1 D' WY NITIRIN 1900 DX Yaipw K nwa qon hunaol
.NXI2PN 1901 XINY TN T0UNI9 1'TNN

:D'N2AN DRAYYUN DX YXAN IT N1V

D'DYN 7Y Jon DI7Y 707 test nTIRA? niane DN NN wi?w nx 2R+ KNN n21y9n nx nn
:KNN n21ivonn n'7apmv

738951, 1}, (array.

7Y NIX 77120 901 1YNnN 112 12K 72 12w DMK 3 7700 vn 0'7apn IRY NIRYY [NIRD ' 7Y
DTHAN DMWY DYRY DXIAPD 19011 PRNN DTN

NITIZ DTN DN N W'Y NXIPEN DR A7 NXIAR 797 W' DITRa Nnd 11907 NNt Xan A7un

out = [row[-1] for row in neighbors]

return max(set(out), key=out.count)

return_NN
1, 2

pr ke

ne e £, 1bl, K)

out = [row[-1] for row neighbors]
return max(set(out), key=out.count)

[1,2,2] 0'>w7 nnw out 7wnin WY NIkYT (N1

.2 117¥ N7Na ,0'MY9 NN DN NYI9INY NN90N DX I'TAN Max n71yon [INNXN 27wa
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(-1) INNXN N2'RD 7V DNAIYN DX AR7172 'MYNNYN R71V90 TIZ IR XP7 71D N0 TT Avn
nmd Nx ndion key=out.count owa quN1® NY71DN Max n71Ysa Munnwn |3 D .neighbor nn'win 7w
YNl 0MaRn

bl nirann vn nx 0a 7apnw 0 KNN n2iven nx nnw'? iy wr predict n'71von namnd 7v qon
N71Y9n winm 707 .NTI7nNn TNX 73 7w niinn X oa 79'w distances 11ynn N1ana 'Y vyl D Ind
#ana o'wnmn ovn'wn nx? KNN
def KNN(train, test, Ibl, K):
distances =]
for t, | in zip(train,Ibl):
dist = euclidean_distance(test, t)
distances.append((t, dist, 1[0]))
distances.sort(key=lambda dist: dist[1])
# distances = np.delete(distances,[0], axis=0)
NN =]
for i in range(K):
NN.append(distancesli])

return NN

N'MN NN TR 'Y

import matplotlib.pyplot as plt

import numpy as np

train_data = np.array( [
[2.0,3.0],
[3.0,7.0],
[4.0,4.0],
[5.0,8.0],
[6.0,5.0],
[7.0,9.0],
[8.0,5.0],
[8.0,20],
[10.0,2.0] ])

train_lbl = np.array( [
[1]
(1]
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(11,
(11,
[2],
(2],
(2],
[2],
(21 D

test_data = np.array([[6.0, 7.01])

def euclidean_distance(p1, p2):
d=0.0
for i in range(len(p1[0])):
a = float(p1[0,i])
b = float(p2[i])
d += np.power((a-b),2)
d = np.sqrt(d)

returnd

def KNN(train, test, Ibl, K):

distances =]

for t, | in zip(train,lbl):
dist = euclidean_distance(test, t)
distances.append((t, dist, 1[0]))

distances.sort(key=lambda dist: dist[1])

NN =]

for i in range(K):
NN.append(distancesli])

return NN

def predict(train, test, Ibl, K):
neighbors = KNN(train, test, Ibl, K)
out = [row[-1] for row in neighbors]

return max(set(out), key=out.count)
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prediction = predict(train_data, test_data, train_Ibl, 3)

print("prediction: ", prediction)
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.KNN nnni7aa win'w qin o'no anro'? mi'? madn - 1 an'wna

nnimn 9w airo y¥a? nnuna ANN nfpNM 01NN DY win'y Awivn TR 12N DnTign Ni7'yoa
D2IN'X 1901 YX¥27 IX DI NIRYITA Unn ' R7 210N NIXYNY 11TR7 .0'0N'R A10 3 -7 0'N1o

NP NVIYD NIXA 712'W INXR DNNIAYR D' Y7IRY TYNN D71V D 7V .NINR0 NIRXIN 7277 15 nwnY
.0'n19 1107 *1 KNN Dnnia7x NX [N2 IT NN'Yna .0'NI9N AII'0 NN'wn NIX Y17

:D'NN9N AI'0Y7 DYINAN N1an 72V AT |7nY

:D'0N'RN NIY7YW 7Y Niimn 707 .0'0N'R W 0IW D10 3 7V AMMn YT 77150 02IMan wn

Iris Setosa 100 Iris Versicolor 010 Iris Virginica 001

(omn'w'7 nnNwor Dy 1IN win'wY) https://commons.wikimedia.org/wiki/Iris_Iridaceae :namnn i

:DNY D1'"'9XN 4 ' 7V 0'N9 NYITY DAlIoNN nMapnn 0'Seinn 01Nl 221> D"2ININ NANN

(0m'R 7w mAnd Y IR) petel -0 NIK
(om'x 7w nand v anN) petal -n anN
(o' 7w yraan "My IR) sepal -0 IX
(o' 7w yraan v anN) sepal -n ann

N9 7W NAINN 23 72 D2V'OXNN DR 1 20NY NN |70
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https://www.neuraldesigner.com/files/datasets/iris flowers.csv

IX2N W'PAN NN DIIMIA YAl IR TIN7 N1

1
2
3
4
5
o
7
8
9

10
11
12
13
14
15
16
17
18
19
20

97
93
99
100
101
102
103
104
105
106
107
108

109
110

5.1
4.9
4.7
4.6

5
3.4
4.6

3
4.4
4.9
3.4
4.8
4.8
4.3
3.8
5.7
3.4
3.1
3.7
5.7
3.7
6.2
5.1
5.7
8.3
5.8
7.1
8.3
8.5
7.0
4.9
7.3
6.7

3.5

3
3.2
3.1
3.6
3.9
3.4
3.4
2.9
3.1
3.7
3.4

3

3

4
4.4
3.9
3.5
3.8

3
2.9
2.9
2.5
2.8
3.3
2.7

3
2.9

3

3
2.5
2.9
2.5

£

1.4
1.4
1.2
1.5
1.4
1.7
1.4
L5
1.4
1.5
1.5
1.6
1.4
1.1
1.2
1.5
1.3
1.4
1.7
4.2
4.2
4.3

3
4.1

B
5.1
5.9
5.6
5.8
6.0
4.5
6.3
5.8

sepal_length sepal width petal length petal width class

0.2 iris_setosa
0.2 iris_setosa
0.2 iris_setosa
0.2 iris_setosa
0.2 iris_setosa
0.4 iris_setosa
0.3 iris_setosa
0.2 iris_setosa
0.2 iris_setosa
0.1 iris_setosa
0.2 iris_setosa
0.2 iris_setosa
0.1 iris_setosa
0.1 iris_setosa
0.2 iris_setosa
0.4 iris_setosa
0.4 iris_setosa
0.3 iris_setosa
0.3 iris_setosa
1.2 iris_wersicolor
1.3 iris_wversicolor
1.3 iris_wersicolor
1.1 iris_wersicolor
1.3 iris_wersicolor
2.5 iris_virginica
1.9 iris_virginica
2.1 iris_virginica
1.8 iris_wvirginica
2.2 iris_virginica
2.1 iris_virginica
1.7 iris_virginica
1.8 iris_virginica
1.8 iris_virginica

:D'NaN DIMAN DX 7211 Excel noim 1 %y niman yalp Nk NN

1YApY 01"9XRNN 4 X 1ITT N9 757 AWK (210 7on 50) o'n1o 150 7w nimaT 2'onn yaipe n7ay
Y'Y [XON .ITTN INIXY NN9N OW DX NY7100 NYMNN ATy 790 yapn [amd .avihwn 2 71an7 '
2Unn yTn w nniw 150 1%
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TTIPN NNAIT 1707 .0M1DN IRY NUMpPY 11Yn N7 Yaipn 2im1 DX 017j71 Xan 27va

import numpy as np

from termcolor import colored

vir_iris_data = np.genfromtxt('iris_for ML.csV', delimiter=",")

print(vir_iris_data)

ST RTVRN S

2
.4
3

=

:N2N V790 DR A

:N2an 9182 KNN nnniia7x qim7 015'w 15 011Man 7wn DX O'RNNY IX U NaD Q7w)
.MxNN1 3 TV 1 DN1950N7 NN9N DY NX NIWY - @
.0'N15N 210 NN 11WIY @
INAN VNP D W DDWN 4 -7 YNN NR PN e
.D2IMIN DX 71 7700 DM WYN .a
.DIM'RN WN Y nmnn R mn wn b
.DIMIN DX 7 7700 nprTawvn .C
ANP'TAN Wwn v niann nx 7700 wvn d

import numpy as np

from termcolor import colored

vir_iris_data = np.genfromtxt(‘iris_for ML.csV', delimiter=",")
random_iris_data = np.random.permutation(vir_iris_data)
test_data = random_iris_data[0:10,:4]

train_data = random_iris_data[10:,:4]

test_Ibl = random_iris_data[0:10,4:]

train_lbl = random_iris_data[10:,4:]

print("\nrandom_iris_data: \n",colored(random_iris_data, 'red’),"\n")
print("\ntrain_data: \n",colored(train_data, 'blue'),"\n")
print("\ntrain_lbl: \n",colored(train_lbl, 'blue'),"\n")
print("\ntest_data: \n",colored(test_data, 'green’),"\n")

print("\ntest_Ibl: \n",colored(test_lbl, 'green’),"\n")
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1727w DRIMIN DX [N2)

random_iris_data: test data: train_data: test_1bl: train 1bl:

Tizn NR 721 KNN pnnia7x win'm? nandw niziyon wi?w oy TN' 01NN 112N NN Tip DX 270
e

import numpy as np

from termcolor import colored

vir_iris_data = np.genfromtxt(iris_for_ML.csv', delimiter=',")
random_iris_data = np.random.permutation(vir_iris_data)
test_data = random_iris_data[0:10,:4]

train_data = random_iris_data[10:,:4]

test_Ibl = random_iris_data[0:10,4:]

train_Ibl = random_iris_data[10:,4:]

def euclidean_distance(p1, p2):
d=0.0
for i in range(len(p1)):
a = float(p1[i])
b = float(p2[i])
d += np.power((a-b),2)
d = np.sqrt(d)

return d
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def KNN(train, test, Ibl, K):

distances =]

for t, lin zip(train,lbl):
dist = euclidean_distance(test, t)
distances.append((t, dist, 1[0]))

distances.sort(key=lambda dist: dist[1])

NN =]

for i in range(K):
NN.append(distancesii])

return NN

def predict(train, test, Ibl, K):
neighbors = KNN(train, test, Ibl, K)
out = [row[-1] for row in neighbors]

return max(set(out), key=out.count)

for i in range(len(test_data)):
p = predict(train_data, test_datali], train_Ibl, 1)

print("test_Ibl:" , colored(test_Ibl[i], 'green') ,"prediction: ", colored(p, 'green') )
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test_1bl: prediction:
test_1bl: prediction:
test_1bl: prediction:
test_1bl: prediction:
test 1bl: prediction:

test 1bl: prediction:
test 1bl: prediction:
test 1bl: prediction:
test 1bl: prediction:
test 1bl: prediction:
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You are free:

to Share — to copy, distribute and transmit the material
to Remix — to adapt the material

Under the following conditions:

Attribution — You must give appropriate credit, provide a link to the license, and
indicate if changes were made. You may do so in any reasonable manner, but not in
any way that suggests the licensor endorses you or your use.

NonCommercial — You may not use the material for commercial purposes.
ShareAlike — If you remix, transform, or build upon the material, you must distribute
your contributions under the same license as the original.
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